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Question 1 B

2580350 s — (240
Select one:

a. 10— 2z

b.12 — 92

c. 15+ 184

d. 8+ 4z

Question 2

5 RS TS NS

39569 dmddggds: (_1 - i\/:_;)g
Select one:

a.nl2:

b. 512

c. —nl2

d. —bl2:

0 D

Question3

2 -1

-4 1 1 1 0
(s )

— -1 3 -3J\6 2

53030l y39ws 9egdgb@ol xsdo.

Answer:l

Question 4
50mblgbom 5B MWo 396G MEgds

3 -2 -1 -5
(4 S)X_(I{] —1)

Select one:

-3 1
()
C a. 4 -1 .
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Question 5
2r—y+z=1
r+y—z=2
dm 399005 LobEgds —T+ 2y +3z =0 03mggo &
Answer:l
Question 6
2 =3 4
5 0 -1
A=1_ . -
3 3 =D
030390 10 3 JoBHMoiol Mmsbyo
Answer:l
Question 7

030390 03M3gM a 399™O0L 300MOHEObEHJOOL X530, ol h( 1, -2, J') 399@™6O0L
30006956MHMw0s, 0z ©9Mdob Y000 F0T>MHMYYBLMD 5EAIBL devsy3 3Mmbals
©> |f_1'| =3v14,

Answer:l

Question 8
0303900 139O0

30009 @ o b 30JO™OIOL FmGob).

Select one:

a. —96 — 27v/3

b. 96 + 27/3

c.9

4.6 —7V3

Question 9 . .
033000 80ANGLIE0 Bs3GIgEb Breo (2@ +3b) (@ — 2b)|

o) |d@| = 1,[b] = 2, = 60° (¥ 560l 3moby @ @E 399H@6RL Fmeob)

Select one:

a. 14/3
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Question 10
03mggem  ABC ULsdgmobgool A 3mmbg, 09 36mdoos dobo §396Mmgdol  30mMmobsdgdo:
A(1;-1;2), B(3;1;3), C(0;-1;1)

Select one:
arccosL2
a.

]

1
arccos——
b. vl

arceos %

. V1T
. arccas 17

-1

o
d

Question 11

9™ 3990 LOIM39gd0EB MHMTGo [oMmIMoYIbL XaMRL  90bodbMo M3 MeE0gdol dodsMom:
1) n—m60 Gogol (M€ N — godbomgdmmos) 335Gsdme ds¢®ogms M(N) LodGsgwg 8gzGgdol
3905300l 303sMm;

2) 396¢) Gogbzme Z' LOIM3g F93MgO0L M39MoEO0L F0dsMm

3) 659300 ©@YBOm MmoEbgms ¥t LodMsgwg 3obMe3wgdoL M39M300L J0FSHM

4) n-a60 Gogol (NE N — 5odbomgdmmos) 335005¢mm ds@Gmogms M(N) bodGsges
245069390l Mm39Mo300L B0dsMm;

5) N —a960 Gogol (M€ N = godiomgdmmos) bodgEGoma dsgmogms S(N) bodmsgeg B9369d0L
39M5300L J0dsOm?

Select one:

a. dbmwee 3) ,4) © 5)
b. s6g 9go»o

C. 3) s 5)

d. 8bmmne 1), 3) ©s 5)

Question 12

58mblgbom goermsl Fs={0,1,2} 3980 §H5303 s5egqd®ue asbEHmemgdsms Lobdgds
281+ 22 +23 =1
T+ 223 = 2
201+ 30 =10

Select one:
a. (0,1,2)
b. (2,2,1)
c. (1,2,0)
d. (0,0,1)
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Question 14

9™ 39900 LodM93ggd0sb MHMIgeo (oMmdmoygbl M z03 LogMEgl gargdgb@gdol 8936Mgdol s
HoEbgdg 3o9M53w9d0L s50bodbmo Mm39MeE0gdol dodsmo:

1) R LogMEoL (ml.'- 22,0, 1) ysb01 y39s 39JGHMOMs LodMZEY (ml.'- L2 ER), Bogo3
393609%0L s MoEbgzBy 200M3wgdO0L M3GMHS309d0 OLIYMO39s, MAMEMS Rd LbogMgdo;

L
2) {G - (7}:1: L2, L3, j:*i) | Ty, X2, T3, Tq € G} LodGsg3y ( C 30039dbm® Golbgms
L0dMo3wg5), Losg 89309B0L s oEbzby 293 gdOL M3gM309d0 0lYm039s,
HMAMO3 LbogMsgdo ;
3) [a H 0mb533900g 29BLsDBWIMME yzgms MHy39@ BMBIE0smS G[a b} LodMogeg (Bmbgosme
99360900L 5 5396d300L HoEbzbg F99Mogegd0L B39GIM0Z0 M3gMo309d0L J0BSO™).
4) dm39dmwo mXn 296%M0egB0lL 439w oBHMOEmS M(m,n LodGS3e (BsEBHBOEms
99360900L 5 FoBH®oEoL HoEbgzBYy FodM3wwgdoL B39MEgdMmOZ30 M39MH5309d0L B0dsMm);

5) 3969s@ Mogbgzom 8033Omdsms LMz ( BdWIZMMBIMS 93690l s J0dY3EMBOL
GoEbgzHy 399M9319d0L A39MEgdMO30 M3gMH30gd0L 0TSO )

Select one:

a. dbmwee 1), 2), 3), 4)
b. dbmwne 2), 3), 4)
C. 939>

d. dbmeme 2) ©s 3)
Question 15

©o99(%30¢9m, Mmd e:=(2,-1) , &=(1,2) 56ob R? bog®Eob dsbolo s 03mzggom o3
d5%obdo Logdiolb a=(4,3)  39dH™OoL 3MOEObEIdO.

Select one:

a. (3;-1)

b. (1;2)

c. (2,2)

d. (3;2)

Question 16

03M39m x’:];-’f':_'= a X T 3060boo 33BLoBO3OMmo FHxogo £ LV = Vs 29605Jd6ob
B0 b J1 K BsbolBo, bxwsg & = (25 —=2;4)

Select one:
0 3 -1
-3 0 1
J\1 -1 0

0 —4 2
40 -2
\2 2 0
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